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1. oo AR Seq /s Teaih iR Sfeedr: 1x8=8

Answer the following/Choose the correct
answer :

(@) SR (IO CoMA T THEA P Tefwe
=7 |

Which of the following is not a
component of HDI?

(i) PRe3 TR 2@
Infant mortality rate
(i) &S QI 4 Ay
Life expectancy at birth
(i) R AR o qed
Mean years. of schoohng
(iv) RS ﬁ‘ﬂlﬁﬂiﬂ @ ] :
2 Expected years of schoohng _
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(b) G (IS Tl

(c)
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(2)

914ﬁqsmﬁ’rf%w4amv

lowing does not support

Who of the fol
the doctrine of palanced growth?

(i) e
Arthur Lewis

(i) &6
Hirschman

(iii) C35ET Cic2
Ragnar Nurkse

(iv) 9. T
A. Young

WWWWWWW

Growth in developed countries now
mostly the result of

(i) =R TeoeTel 3 T
raising labour productivity

(ii) YA 557 3 T

raising capital accumulation

(i) PG AF FIREA [EPR AT
innovation and technology

(iv) e &S SR AR
government assistance in export

( Continued )

(3)

() ﬁmwwmwwmmm

TS TS ?

Myrdal’s economic development theory
is related to which of the following

concepts?

(i) om oo o RS 2ok
Backwash and spread effect

(ii) STRIER ST SR (T

International and
inequality

regional
(iii) (i) SF (i) TEOT
Both (i) and (i)

(iv) €T b8 T

None of the above

(o) LT T W WLARE e e 9ol

8P/718

ofiefqy feran |

Write a difference between economic
development and economic growth.

AIDS FRER Ao TS FKFIGH ¥ &l |

Write the name of the organization
related to AIDS control.
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(4)

(g) e N SR (DI Y @R @R ?

Which sector contributes major share to
Indian economy?

(h) NITI SR 7o ! fordt |
Write the full form of NITI Ayog.

2. o RICARA €S 54 G ot (afeCDT seo 1w

foe30) : 4x4=16
Write short notes on the following (within
150 words each) :

(@) T OF SLASE T

Capital and economic development

(b) I 14 W AT T

Social obstacles and  economic
development

(c) SR Heeferd (AR PRI

Causes of regional inequality in India

(d) AT BRI “iRTHA PR

Role of planning in  economic
development

8P/718 ( Continued )

(5)

Wmmmﬁﬂ(maoomm):

Answer the following questions (within 500 words

each) :

3. (a) T GG s CARRPIYZ WA 4 |

(b)

4. (a)

(b)

8P/718

SREH wdfer tmeta wdAfs I =
AR ? 35 o | 8+4=12
Discuss the major characteristics of
developing economy. Can Indian
economy be considered as developing
economy? Give reasons.

%341/ Or

SfAfeT T Sm M wefafee
T Ty 1 AT tmee e
PP SR T 40 | 5+7=12
Write five economic factors governing

economic development. Explain the role
of technology in economic development.

T G OGOl I | @ O SREe!
01 Srms 3911 8+3=11
Explain the balanced growth theory.

Write three limitations of balanced
growth.

1/ Or
T ANAST T TR IR N1 X
oG MerTR a1 | 8+3=11

Explain Rostow’s stages of economic
growth theory. Write the limitations of
the theory.
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(6)

5. (a) o e e g e S

= 11
Discuss the role of education 1
economic development.
%31/ Or
(b) oo Fravcara oY o fordt : 6+5=11
Write short notes on the following :

(i) TP o T R
Underemployment and disguised
unemployment

(i) T “AReE
Manpower planning

6.(a)€(9ﬁﬂ1%¢mm%?§ﬁwm
A 40 11
Discuss the role of tertiary sector in
economic development.

w231/ Or
(b) TR AT T R 1 g
HcEAn 90 11
Discuss the role of agricultural sector in
economic development of a country.-

7. (o) T wLAS Tawere ARTEAR PR R
A0 91 1 11
Discuss the role of planning in economic
development of a country.

8P/718 ( Continued )

8P—6000/718

(7)

991/ Or
(b) e A 54 Bl ore

Write short notes on the following :
(i) SR % g T

Infrastructure  and
development

(i) IER GLAAES AR

Planning in market economy

6+5=11

economic

* %k
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